BASORSUPPORT

SOor
BCTAHIC
@14 R
SP3S 400 40| 16 | 2 | 4 | 600 | 32 |0249| 2717308 | 1,07 . s
SP3S 500 500 20' | 2 | 4 | 600 | 32 |0312| 217309 | 127 -
SP3S 600 600| 24 | 2 | 6 | 600 | 32 |0405| 217310 | 147 ]
$P35 800 800 3 | 2 | 6 | 600 | 32 |0561) 217311 | 187 8 .
TF41 PVC (2/5627) ' 0 0-
P SHST @ 0 gfjﬁ
SP3S T
N
L4t a1 ]
L TF41 Y,
sp
GC 14 )
mm REF. | kg/ud %
SP 300 300| 12 | 25 | 4 | 725 | 5515 | 0142| 24734 | 1,11 . )
SP 400 40| 16" | 25| 4 | 725 | 5515|0203 | 271036 | 1,38 *E U 88
SP 500 500| 20" | 25 | 4 | 725 | 5515|0265 | 21037 | 164 o
SP 600 600| 24" | 25 | 6 | 725 | 5515|0326 | 2/4938 | 191 8 50
SP 800 800| 32" | 25 | 6 | 725 | 5515|0500 | 21038 | 244 = T
TF41 PVC (2/5627) 0]
@ A SCRISRB + 2 x TEP M10x30 (0/0907-£2) st \B%ﬁ
@ A SHUSPISHR +2/100 X DING33 M10X30 (/0320-304) - i
o +2/100 x TMA1 M10 (0/1071-GC / 0/0970-316) a a1
@ A SCRISRB + 21100 x B2 (216792-GC)
TF41
@ X SPUSHLISP + 2/50 x B3 (218827-60)
@ e SHST®
g J
J
SPD

SPD

SPD 500
SPD 600
SPD 700
SPD 800
SPD 1000

S inch
500 | 20" | 25 | 8 | 1100
600 | 24" | 25 | 8 | 1100
700 | 28" | 25 | 8 | 1100
800 | 32" | 25 | 8 | 1100
1000 40" | 25 | 8 | 1100

133
133
133
133
133

0,147
0,179
0211
0,263
0,316

216272 | 3,18
2/5621 | 3,71
216273 | 4,24
216274 | 4,77
2/4641 5,84

TF41 PVC (2/5627)

el
= =)
K W=
120
160

’ SCR/SRB +2/100 TEP M10x30 (0/0907-E2)

SHL/SHR/SP/SPD + 2/100 DIN933 M10x30 (0/0320-1304)

+2/100 x TM41 M10 (0/1071-GC / 0/0970-316)

TF41

25x11

16

B06 | BASORSUPPORT




